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QUESTION 1

Which three of these statements are true about vRealize Suite? (Choose three)

A. provides availability for unplanned downtime for mission-critical application

B. provides availability for planned live migration using long-distance vMotion

C. provides a self-service provisioning portal to make infrastructure costs transparent to users before consumption
D. Enables desktop virtualization using Workstation

E. Enables administrator to migrate operating system

Correct Answer: CDE

QUESTION 2
A beverage company has a critical virtual machine running on vsphere . The virtual machine runs an application that
controls the customer automatic botting line. An outage of this virtual machines stops the line and results in enormous

costs for the business. The application is extremely old and does not support application level clustering .

Which two vsphere features help reduce downtime for this critical virtual machine in case of esxi host failure? (Choose
two )

A. Vshield endpoint

B. Fault tolerance

C. High availability

D. Cross-v center vmotion

Correct Answer: BC

QUESTION 3

Which two are challenges that could be resolved by implementing data center visualization? (Choose two.)
A. The IT department allocates 60% of its budget to maintain server infrastructure.

B. An organization\\'s physical server infrastructure averages 30% utilization

C. The IT department is reporting increased security threats at the server level.

D. An organization\\'s physical server infrastructure is approaching 90% utilization.

Correct Answer: AD
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QUESTION 4

Which two chart types are available when viewing performance metrics in the vSphere Web Client? (Choose two.)
A. Venn diagram

B. scatter plot

C. Gantt chart

D. line chart

E. pie chart

Correct Answer: DE

QUESTION 5

An administrator needs to increase the amount of startup delay there so that they can edit the BIOS of the virtual
machine. Which option tab will allow them to configure the setting?

A. Boot Options

B. VM Options

C. Virtual Hardware

D. Power Management

Correct Answer: B
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